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BACHELOR OF ARTS EXAMINATION, 2023
(2nd Year, 3rd Semester)
PHILOSOPHY
[ Ethics (Western) |

Time : Two Hours Full Marks : 30
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Use a separate Answer-Script for each group
Answer either in English or in Bengali.
Group—-A (%t -9)

What is an Imperative ? Explain with examples, the difference
between Hypothetical and Categorical Imperative, following
Immanuel Kant. Why, according to him, there is only one

supreme principle of morality ? 2+6+2=10
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What is virtue ? How does Aristotle distinguish between

intellaetual virtue and moral virtue ? Explain with examples.

What is the relation between virtue and eudaimonia ?
2+5+3=10

e Fi 2 SIfEHea Tl AwEs/Ifagfests Aed @
T ARG & 2L TR ? SHIRdePT2 1<y 74 |
eudaimonia-q ACH AMBTAT TN 2 3+G+o=30

[ Turn over



9|

8|

[2]

Briefly explain, following G.E. Moore, what is a naturalistic

fallacy and how such a fallacy can be avoided. 5
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Briefly discuss the debate between ethical absolutism and
ethical relativism. 5
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How can we determine whether a pleasure is qualitatively
higher than another pleasure? Discuss after Mill. What is the
significance of the notion of qualitatively higher pleasure in
Mill’s theory? How does Mill show that human beings
generally prefer qualitatively higher pleasure? Do you agree
with Mill? 2+24+4+2=10
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6. Discuss the argument which is given in favour of the claim

that pleasure is not the only end in itself. How does Mill
respond to this argument? Do you find Mill’s view
acceptable? 2+6+2=10
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Answer within 200 words (SW{¥F 00 1% Tea wie) :
Would there be any problem in Mill’s theory if the notion of
‘absence of pain’ were not included in the definition of

happiness? Discuss. 5
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Do you think that the moral criterion proposed by Mill is free
from the limitations of the moral principles admitted in
intuitionism? 5
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